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Question I. Put in the correct tense of the verbs in brackets (2 p). 

A. When he was a boy at school, Edison asked a lot of questions. The teacher (1. think) _____  he was 
stupid and she (2. send) _____  him home. Edison’s mother (3. teach) ____ her son at home and he 

      (4. begin) _____  to carry out a lot of experiments. 
B. I  ___ (1. never, meet) anyone famous yet. Have you? ~Yes, I ____ (2. have).  I____ (3. meet) 

Elton John in New York in 1998  and we ____ (4. talk) to each other a lot.  

 Question II. Complete each of the following sentences by choosing the best option (2.p) 
1. Mark Twain was born in Missouri _____ (on / for / in) 1835. 
2. Fresh air is _____ (of / about / in) great use to our health. 
3. He won’t pass the exam _____ (if / unless / or) he works hard. 
4. My father often goes to church _____ (with/ at / on) Sundays. 
5. Surfing is one way _____ (of / at/ on) spending free time in Australia. 
6. They are the children ______ (whose / who / whom) won the match yesterday. 
7. Tom has been living here _____   (for/since/ in) six years. 
8. We would go camping _____  (although/ if / but) the weather were fine. 

Question III. Give the correct form of the words in brackets (1.5 p).    
1. Marie Curie’s _____ (DISCOVER) of radium made her famous. 
2. She’s fed of with  _____  (DO) nothing all day. 
3. There are not many _____  (DIFFER) between American and British English. 

 4.  This man gets _____ (EMPLOYMENT) benefit because he has no job now. 
 5. These animals are in danger of _______ (EXTINCT). 
 6. He has _____  (SUCCEED) in giving up smoking. 

Question IV. Read the letter and answer the questions (2.5 p). 
Dear Mom, 
This is just a quick note to tell you how the holiday is going. We’re staying in a nice hotel in a quiet part of 
town, so you can imagine how we feel. As you know, this is a small city, and the people are very kind and 
friendly. We have had some good weather since we got here, so we are feeling very happy. We have seen some 
of the beautiful sights and a few museums, and we thought they were very impressive. Yesterday we decided to 
go for a swim, and we went to a nice beach where the water was blue and clean. 
Last night, we had a delicious meal in a wonderful restaurant. The food and services were excellent. When the 
bill came, we could hardly believe it, as it was so cheap. 
As our hobbies are sightseeing and swimming, we enjoyed the holiday so much. 
Anyway, I’d better stop, but I’ll write again soon. 
Love, 
Mary & John 

1. Where are Mary and John staying? 
2. What are the people in the city like? 
3. Has the weather been very bad there? 

4. Where did Mary and John  go for a swim? 
5. Did they pay a lot for their delicious meal ? 
 

 
Question V. Finish each of the following sentences in such a way that it is as similar as possible in meaning 
to the original sentence (2 p). 
 

1. The story was very interesting to me. 
2. Your writing is so small that I can’t read it. 
3. Learning English is necessary. 
4. We will go there unless it rains. 
5. The man couldn’t speak. He was so surprised. 
6. John speaks English more fluently than I do. 
7. James Watt invented the steam engine. 
8. They are going to build a hospital near my house. 

→ I was ______________________ . 
→ Your writing is not ___________ . 
→ It is ________________________ . 
→ If it ________________________ .  
→ The man was too______________ . 
→ I cannot _____________________ . 
→ The steam engine_____________ . 
→ A hospital________________ . 

 
----------THE END ---------- 
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